Name: - Date: ‘KE\/

Atomic Theory Review

1. Draw s, py, py, and p, orbitals:
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2. What does an orbital represent? Z
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3. On the perlodlc table, where is the ‘s bIock’? ‘p block’? ‘d block’? ‘f block'?
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4. How many s orbitals are there? p orbitals? d orbitals? f orbitals?
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5. Give.the electron configurations (NOT core notation) for each:
Be: |22 |
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6. Give core notation for each:
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Au: [}(@] éSiLH\‘HSO\N




: 9) Why are noble gases unreactive?
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7. Give core nptation for each:

G TAF] or [th 3s73p

CuZT: [Hr] 349 | | |
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8. a)What i is the electron configuration ending for the halogens?

C*p*

b}) How many valence electrons does each halogen have?

c) What is the common ion charge for a halogen and why?.
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10) Why does Ni make a Ni** ion? {WQ dwkv
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- 11) Give the symbols for and explain the four quantum numbers. Why do we have
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12) How many valence electrons do each of the following have:

AL B C Osn  act 5)s* 6)Al 7)Pd*
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13) Define ionization energy:
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Wh|ch of the following have the highest ionization energy? L, AI@i Why?
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14) Which of the fdllowing have the smaliest atomic radius? Na, K,@_Br Why?
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15) Define electronegatlwty
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Which has the highest electronegativity? Li, Fr,@,l - Why?
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